22 I DE=AW(6) 3 B H

NEDEAVEFVELL S,

2L 7dL — IdL = L dL
@ 8L 9d. — IdL = L dL
@ 5L 6d. — 5d. = L dL
@ 2L 2d. — IdL = L dL
® 6L 8d. — 7dL = L dL




22 HITDAN() 32 A H

NEDEAVEFVELL S,

®2L 7d. - 1dL = L dL
@ 8L 3d. — 2dL = L dL
@ 6L 8dL — 8dL = L

@ 2L 2d. — ldL = L dL
® 9L 5d. — 2d. = L dL




22 I DE=AW(6) 33 B H

NEDEAVEFVELL S,

O IL 2d0 — 2d. = L

@ 7L 5d. — 2dL = L dL
@ 4L 3d. — 2dL = L dL
@ 3L 7d. — ldL = L dL
® 9L 6é6d. — 5d. = L dL




22 I DE=AW(6) 34 B H

NEDEAVEFVELL S,

@ 1L 7d0 — b5d. = L dL
@ 8L 7d. — 2dL = L dL
@ 7L 9d. — 4dL = L dL
@ 3L 7d. — 4dL = L dL
® 5L 6d. — ld. = L dL




22 I DE=AW(6) 35 B H

NEDEAVEFVELL S,

4L 3d. — IdL = L dL
@ 7L 8dL — 6dL = L dL
@ 8L 7d. — 4d. = L dL
@ 1L 5d. — IdL = L dL
® 5L 8d. — 6dL = L dL




22 I DE=AW(6) 36 B H

NEDEAVEFVELL S,

@ 4L 9d. — 3dL = L dL
@ 9L 6d. — 4d. = L dL
@ 4L 4dl — 4dL = L

@ 4L 3d. — 2dL = L dL
® 8L 2d. — IdL = L dL




22 I DE=AW(6) 37 B H

NEDEAVEFVELL S,

4L 9d. — 8dL = L dL
@ 8L 9d. — 6d. = L dL
@ 2L 3d. — IdL = L dL
@ 4L 9d. — 3dL = L dL
® 7L 3d. — 2dL = L dL




22 I DE=AW(6) 38 B H

NEDEAVEFVELL S,

® 2L 9d. — 2d. = L dL
@ 8L 4d. — 3dL = L dL
@ 9L 9gdL — 4dL = L dL
@ 1L 6d — 6d. = L

® 6L 9d. — 1d. = L dL




22 I DE=AW(6) 39 B H

NEDEAVEFVELL S,

® 2L 9d. — 8dL = L dL
@ 9L 4dL — 4dL = L
@ 6L 8d — 6d. = L dL
@5L 5d. — 3dL = L dL
® 6L 4d. — 4dL = L




22 I DE=AW(6) 40 A H

NEDEAVEFVELL S,

® 4L 4d. — 2dL = L dL
@5L 6d. — 3dL = L dL
@ 8L 4d. — 1d. = L dL
@ 5L 2d. — 2dL = L

® 7L 5d. — 3dL = L dL




22 I DE=AW(6) 4| B H

NEDEAVEFVELL S,

2L 7d — IdL = L dL
@ 6L 8d. — 3dL = L dL
@ 9L 5d. — 4dL = L dL
@ 4L 6d. — 3dL = L dL
® 7L 9dL — IdL = L dL




22 I DE=AW(6) 42 B B

NEDEAVEFVELL S,

4L 9d. — IdL = L dL
@ 5L 4d. — 2dL = L dL
@ 2L 6d. — IdL = L dL
@ 3L 2d. — IdL = L dL
® 8L 7d. — 3dL = L dL




22 I DE=AW(6) 43 A H

NEDEAVEFVELL S,

@ 4L 8dL — 8dL = L

@ 6L 5d. — IdL = L dL
@9L 6d. — 5d. = L dL
@ 2L 4d. — IdL = L dL
® 5L 6d. — IdL = L dL




22 I DE=AW(6) iviA B H

NEDEAVEFVELL S,

O IL 5d. — 4d. = L dL
@ 6L 3d. — 3dL = L

@5L 6d. — 5dL = L dL
@5L 2d. — IdL = L dL
® 8L 5d. — 2dL = L dL




22 I DE=AW(6) 45 A H

NEDEAVEFVELL S,

® 4L 5d. — 4dL = L dL
@ 8L 2d. — ld. = L dL
@ 9L 5d. — 4d. = L dL
@ 4L 9d. — 7dL = L dL
® 9L 7d. — ldL = L dL




22 I DE=AW(6) 46 A H

NEDEAVEFVELL S,

@ 3L 7d. — b5d. = L dL
@ 9L 9d. — 8dL = L dL
@ 8L 6d. — 2d. = L dL
@ IL 7d. — b5d. = L dL
® 5L 4d. — 4dL = L




22 I DE=AW(6) 47 B H

NEDEAVEFVELL S,

® 4L 5d. — 5dL = L
@ 6L 4d. — 4dL = L
@ 3L 4d. — 1d. = L dL
@ 4L 6d. — 6dL = L
® 8L 6d. — IdL = L dL




22 I DE=AW(6) 48 A H

NEDEAVEFVELL S,

® 2L 3d. - 3d. = L
@ 8L 6d. — 5dL = L dL
@ IL 2d. — 2d. = L
@5L 7dL — 2dL = L dL
® 9L 3d. — 3dL = L




22 I DE=AW(6) 49 A H

NEDEAVEFVELL S,

® 3L 3d. — 3d. = L

@ 6L 3d — 2dL = L dL
@ 8L 8dL — 7dL = L dL
@ 2L 8dL — 7dL = L dL
® 6L 9d. — 4dL = L dL




22 I DE=AW(6) 50 B H

NEDEAVEFVELL S,

4L 2dL — 2dL = L
@ 6L 8d. — 8dL = L
@ 3L 8dL — 7dL = L dL
@ 3L 8dL — 4dL = L dL
® 5L 5d. — 2dL = L dL




22 I DE=AW(6) 51 B H

NEDEAVEFVELL S,

1L 7d — Id. = L dL
@ 7L 3d. — ldL = L dL
@ 6L 6d. — IdL = L dL
@ 4L 5d — 3dL = L dL
® 7L 8dL — 3dL = L dL




22 I DE=AW(6) 52 B B

NEDEAVEFVELL S,

® 3L 9d. - 2d. = L dL
@ 7L 9d. — 6dL = L dL
@ 3L 6d. — IdL = L dL
@ 2L 7d. — 2dL = L dL
® 6L 6d. — IdL = L dL




22 I DE=AW(6) 53 B H

NEDEAVEFVELL S,

@ IL 5d. — 2dL = L dL
@ 8L 9d. — 3dL = L dL
@ IL 2d. — 2d. = L

@ 3L 5d. — 4dL = L dL
® 7L 3d. — IdL = L dL




22 I DE=AW(6) 54 B H

NEDEAVEFVELL S,

@ 3L 7d. — 6d. = L dL
@ 5L 3d. — 2dL = L dL
@ 3L 2d. — ld. = L dL
@ 3L 4d. — 4dL = L

® 8L 2d. — ld. = L dL




22 I DE=AW(6) 55 B H

NEDEAVEFVELL S,

@ 3L 5d. — 3dL = L dL
@ 8L 9d. — 6d. = L dL
@ IL 8dL — IdL = L dL
@ 3L 5d. — 4dL = L dL
® 6L 5d. — 5d. = L




22 I DE=AW(6) 56 B H

NEDEAVEFVELL S,

O 4L 7d. — 6dL = L dL
@ 9L 8d. — 7dL = L dL
@ 6L 8d — 3dL = L dL
@ 5L 4d. — 3dL = L dL
® 8L 7dL — 7dL = L




22 I DE=AW(6) 57 B H

NEDEAVEFVELL S,

® 3L 9d. - 9dL = L
@ 8L 7d. — 6d. = L dL
@ 3L 8dL — IdL = L dL
@ 1L 3d — Id. = L dL
® 8L 3d. — 3d. = L




22 I DE=AW(6) 58 B H

NEDEAVEFVELL S,

4L 9dL — 2dL = L dL
@ 6L 6d. — 2dL = L dL
@ 7L 4d. — I1dL = L dL
@ I L 4dL — IdL = L dL
® 8L 7d. — 4dL = L dL




22 I DE=AW(6) 59 B H

NEDEAVEFVELL S,

® 2L 6d. — 4d. = L dL
@5L 8d. — 6dL = L dL
@6L 9d - 8d. = L dL
@ 3L 7d. — 7dL = L
® 5L 3d. — 3dL = L




22 I DE=AW(6) 60 B H

NEDEAVEFVELL S,

® 2L 7d. - 3dL = L dL
@ 9L 8d. — 6dL = L dL
@ IL 7d0 — 4d. = L dL
@ 1L 5d. — 2dL = L dL
® 7L 9d. — 5dL = L dL




